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EXERCISE TEST -3 [(p.&83)

2 _Mark Questions

1.

Which one of the points 10 — 8i,11 + 6i isclosetto1 +i.zq =2 — i
10-8i, 11+6i WHW Lemeflesefley  etlilemefl1+i-6@& W& S TanDOUIN
QBHHGSLD?

. If|z| = 3,showthat 7 < |z + 6 — 8i| < 13.

|z| = 3 6TEDTI6V 7 < |z + 6 — 8i| < 13 6T6OTS HTL(H5

. Show that the equation z3 + 2z = 0 has five solutions.

2 +27=06T60TMN FLOGTUMLILME 8BS HT6Y&H6T @) [HEELD 6T60T Bl M6 5.

. If|z| =2showthat3 < |z+ 3+ 4i| < 7.

|z| = 2 6TEOTI6V 3 < |z + 3 + 4i| < 7 6T60TE SHTL(H 5.

. Find the square root of 6 — 8i.

6 — 8i — 60T GUJT&HEHELNGVLD &IT600TS

Mark Questions 4 X5=20

. Let z;, z, and z3 be complex humbers such that |z;| = |z,| = |z5| =r > 0and z; + z, +

+2,73+
z3 # 0. Prove that [2222575%)

Z1+zy+2z3

71, 25, LDMMILD z; 6T60TM HEVLIQLIGDOTERGIT |2 = |z,| = |z5] = r > 0 LDMHMILD

2z + 2, + 23 # 0 6T6OTEY LD @)\ (HIHG TV | 22t 2%t 2| _ 1 ernr [HlMI6)&.

7.

Zy + 2o + Z3

Show that the points 1, _—1 + iE and _—1 - iE are the vertices of an equilateral triangle.

1, 71+ 2 OOID = - L— 6T60TM uenerﬂassﬂ Q@ FLOLIGS (NG G5 T60TS 5 60T

(LPENEITLIL|6T61 S 6TITE (600G LDEDT [H] M6 .

. Ifz,, 2z, and z3 are complex numbers such that |z;| = |z,| = |z3] = |z, + z, + z3| = 1, find

+ 42

Z2 z3l’
7, 7y Lng')gumz3 LHW HVLIQLICOOTSHET 6T60N6V |z;] = |z,] = |z3] = |21 + 25 + 23] = 1
ETEOT UMM @ BIHSTEV |-+ =+ 1|-60T L)L InLIS &IT600TE.

. If z4, z,, and z5 are three complex numbers such tat |z,| = 1,|z,| = 2,|z3] =3 and |z; +

Z, + z3| = 1, show that |9z,z, + 42,25 + z,23| = 6.
71, 73, IDMMILD z; 6T6OTM CLOGOTMI H6VLIGILIGOOTSHGIT || =1, |z,] =2, |z3] =3, LOMMILD |z, +
2, + 23] = 1 GTEOTMGUITM D_6ITENSI 6T60T16V (9 2,2, + 4 2 125 + 2, 23 | = 6 6T6OT (B MG 5.
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